stress test

727} am olm AEA  _amo

3m 9l o7} 72 slto] *
Qct. o] BEre 2L 4 ‘
W) WHE, MBS ym o Jm
sddw @ ol /
7 sre] Yol2 Sm2et 8 uj, 5o 72 Fotolat,

2a-+b 0 3 Wil A o@ A A o] 2 ¥iZ WiT 20 + 13D
7} cka gk, o® 4] A B Fojolal,

D b=2s—h @ b=2s+ah
2s 2s
®b—ﬁ_a @b—ﬁ—i—a
2s
b=—+1
® ot
1

a =

b= L, Tk A9 g Fatela,
a—{a—2b— (7Ta —4b)}]

Lo N

a—|

8.

O ™I Zo] 97]5 9]

o|al a7} 242 A W, &
71°59] Eo|E FolH?
247 %
® %1’5 @) gx" = N
8 -~ =
® 8z° @ —nzb
3 \_/
® 8z
Y22t 3 yis? i
- =- < WEst=a, b, ¢, d7F S
3z cxl?

o, a —b+c—d2 S Fotof=h

—3x(x — 2y — 1) = Az® + Bay + Cz @ o, &=
A, B, C & A+ B+C29 a2

® -6 @-5 @0 @ 3 ® 6
2. @2 2, 2

8zy — 6y 6x“y — 12zy = 7hchs] 54m9
2xy —3xy

D xz+y @ 2z +y ® z+2y

@ 2x+2y ® 2x+ 3y




D& =Y

filo

10. = A T &2 A

® —(a—5b) =a+5b

@ —2(-3z+y) =322 -y

® 2x(3x — 6) = 622 — 6w

@ 3x(2z — 3y) — 2y(z +y) = 622 — 1lzy — 29>

® —z(z—y+2)+3y2z+y+4) =
—x? + Txy — 22 + 3y? + 12y

.3 5 1 1 - .
M3y (F2at sy 5) & el st W, 2 gl
5}
H

A% L a oS4, o], [sa| o] FEL
15
O3

12. Qr+ay)? =b2r’ +cay+9y> € ™, a—b+c 9 T
Fotodet (2, a>0)

13. 50 -2y = 4o +y—-3 <L W, 50 -2y +5 5 x °
B3 402 vepola,

14. 4243y =2 < W], 5(z — 3y) — 2(4o — 3y) = z °
ek Aoz vEhfolet.

15. 54 F241& o] 85t (v + 3)(x + a) T A7HTE Ao]
2?2 + bx — 12 olt}, o|uff A== a, b O] FES FFotoiet,

(x = 7)(bz + a) E ANt H=

16. 541 3412 o859
o, z o] A7 —30 olth. ol &4 a O] g2 o}
o2,
. 9 2 - e
s 1 {Em_g {2 —*(33—320}} £ e A=

3
o, z of Aty o] Alg=2] 27

11 1

@_ﬁ ®_ﬂ ® 0

1 2
@ ® 3

2 _ 2 _

18. 6x29:c_33 §$+5:ax2+bx+c°ﬂ/‘1a+c

o] gh& oY
D 1 @g ® 4 @g ® 5




19.

20.

21.

z? — {5x— (x+3x2—|:b} = 2% —z =5 oA

@ —22-3zx-5 @ —222+3zx-5

® 322 -3z+5 @ 222 —5x+5

® 222 -3x+5

U 293 go] 7kz 9] Zol7t sam , Al=2] Zol7}
3am Q1 AARZF ReFo] Spgk ¢hofl Fol 1m ¢l A&
TS A& AlefRt ofge] Hole?

__--bacm--__

, \
/ 1m
;

Mm’

@ (15a® — 15a)m? @ (15a% — 9a)m?

® (15a? — 8a)m? @ (15a® — 9a + 1)m?

® (15a® — 8a + 1)m?

1 2 1

<§x+5) +a=1x2+bx+21 d o, g a, b9
e a+b o FHe?
®1

@ 10 @ 5

22. 27 { Ty \3 22}_ 3 o
§ ><I:]T (_7> X (—3$y ) - _12y4
o, [ ] qrel gyre Ae wEH?
O zy @ 292 (©REIT
@ ztyt B 25y

23. T oA A, B o diste] A« B =A-2B 2 39
A A =22 4242, B =22+ 3z —5 o Hi5t4]

(Ax B) * B & 7bds] sh4?

@ —3z%2—16x — 22 @ —3z2%2 — 162 + 22

® 222 — 14z + 21 @ 222 — 15z + 22

® 322 + 14z + 22

1234
43212 — 4320 x 4322

24. of ke Fotolet.

25. d(z + 1)(x + A) = 4(z — 2)> — B & W, A5 B ©]
FAey

@ 36 @ 37 ® 38 @ 39 ® 40




